VYSLEDKY

Al A>250,0mm?  Aug=260mm? Npax=40kN  0max=153,8MPa Umax=1,23mm

A2 A4>3333mm?  Auawi=340mm? Npax=45kN  omex=147,0MPa Umax=3,71mm

A3 A>357,1lmm*  Auivs=360mm?  Npax=60kN  07:=208,0MPa  Ua=3,16mm

A4 A>3333mm?>  Auavi=340mm? Npnax=20kN  omex=117,6MPa Umax=1,45mm

A5 A>357,lmm?  Apasn=360mm’>  Nypw=30kN  0mu=138,9MPa  te=0,65mm

A6  A>3289mm?  Auuwvs=340mm? Npax=50kN  0mx=183,8MPa Umax=3,07mm

Poznamka: Vysledky omax @ max SU pre Andven.

A7 Npw=25,1 kKN 0mex=7,0 MPa Umax=8,00.10° m

A8  Nuu=22,6 KN  0mu=4,1 MPa Unax=1,92.10°m

A9 Npuw=284KkN  0mux=2,6 MPa Umax=2,41.10"m

A10 Npwx=302kN  ome=11 MPa Unax=7,03.10° m

A1l Nuww=182KkN  6mur=3,1 MPa Unax=3,51.10"m

A12 Npw=324kN  ome=4,5 MPa Unax=5,55.10"m

Bl T,w=1212Nm  7,,=96,5MPa  @ua—=47,7.10>rad

B2 Tyaw=1365Nm  7,u,=41,8MPa  @na=29,2.107rad

B3 Tw=1505Nm  7,0=35,5MPa  @ua=15,6.10"rad

B4  Ty=870NM  74ex=74,7MPa  @mar=54,4.10"rad

B5 Tyw=1000Nm  7,,=68,8MPa  0nu=49,9.10"rad

B6 Tnu=1955Nm  7,0=23,6MPa  0u—10,2.10"rad

B7 Twsu=111Nm D>0,031m Tmax=TD PI€ Dmin

B8  Twu»=3453Nm  D>0,039m Tmax=TD Pre Dimin

B9 Twx=325,3Nm D>0,038m Tmax=TD PI€ Dmin

B10 71x»=533,75Nm D>0,049m Tmax=TD Preé Dmin

B11 T,,=415,6Nm D>0,045m Tmax=TD PI€ Dmin

B12 Tuna=5682Nm D>0,042m Tmax=TD Pre Dmin

C1 - Vina=2,5kN M,=1,25kNm Omax— 1,78 MPa
C2 - Vinax=0,8kN M,,,x=0,87kNm Oma— 1,24 MPa
C3 Nuax=35,5kN Vinax=61,5kN M,,x=160,4kNm Oma— 228,49 MPa
C4 Ninax=62,5kN Vina=134kN M,x=299,3kNm Oma—426,35 MPa
C5 Niuax=190kN Vinax=150kN M,x=261,3kNm Omax=372,22 MPa
Co6 Niuaox=95kN Vinax=T5kN M,,=130,6kNm Oma—186,04 MPa
C7 Ninax=43kN Vonan=43kN M, =60kNm Omax—385,47 MPa
C8 Ninax=94kN Vinax=7T0kN M,:=134,1kNm omax—191,03 MPa
C9 Ninax=10kN Vina=15kN M, =24KkNm Oma—234,19 MPa
C10 Ninax=8kN Vina=12kN M,:=25kNm Omax—=35,61 MPa
C11 Npax=20kN Vina=18kN M,,=12kNm Omax—17,09 MPa
C12 Nnax=15kN Vinax=20kN M,:=55kNm Omax—18,35 MPa
D1 wg=3,72 mm

D2 wg=0,75 mm

D3 9x=0,136 rad

D4 wg=6,22 mm

D5  ¢x=0,0026 rad

D6 wx=7,46 mm

D7 wx=17,9 mm

D8 wx=2,59 mm




